One Team, One Goal: Student Success

514 Glover Street Marietta, GA 30060 Telephone: (770) 426-3300 www.cobbk12.org

## "Revised"

November 16, 2021

Mr. Kerry Jenrette Wind River Environmental, LLC dba Hamby's Commercial Waste, Inc. 300 Thompson Road Hiram, GA 30141

Dear Mr. Jenrette:

This is to advise you that the award to your company for **IFB B1806**, **Grease Trap Cleaning** as shown on the attached pages, has been revised with changes to the number of Walton HS traps and sizes that are highlighted in yellow.

This revised award is in accordance with the terms and conditions of the Invitation for Bid and with your pricing remaining firm **through September 30, 2022.** This award letter is not an official order.

If you have any questions about this revised award, please contact Craig Beare at 770-426-3524 or <a href="mailto:craig.beare@cobbk12.org">craig.beare@cobbk12.org</a>. The Maintenance Department contact is Scott Trammell, 770-426-3355. We appreciate your interest and participation in the CCSD solicitation process.

Sincerely,

Barbara Bates, CPPB, NIGP-CPP Director, Procurement Services

cdb

Attachment

cc: Accounts Payable Scott Trammell Ellie Tsagaratos

Thomas Marshall
Debbie Stinchcomb
Mary Waymire

Revised Award Letter, Page 2 IFB B1806, Grease Trap Cleaning Wind River Environmental, LLC dba Hamby's Commercial Waste, Inc.

Vendor-PO Mailing #100144 Phone: (770) 439-1448

mail: RCOBB@WRENVIRONMENTAL.COM						
Item	School	Size of Trap	Price Per Gallon	Unit Price		
Elementary Schools						
1	Acworth	1500	\$0.169	\$253.50		
2	Addison	1650	\$0.169	\$278.85		
3	Argyle	1650	\$0.169	\$278.85		
4	Austell	1000	\$0.169	\$169.00		
5	Baker	1650	\$0.169	\$278.85		
6	Bells Ferry	3000	\$0.169	\$507.00		
7	Belmont Hills	330	\$0.169	\$55.77		
8	Big Shanty	1100	\$0.169	\$185.90		
9	Birney	1650	\$0.169	\$278.85		
10	Blackwell	1650	\$0.169	\$278.85		
11	Brown Center	1650	\$0.169	\$278.85		
12	Brumby	3000	\$0.169	\$507.00		
13	Bryant	2420	\$0.169	\$408.98		
14	Bullard	1500	\$0.169	\$253.50		
15	Chalker	1650	\$0.169	\$278.85		
16	Cheatham Hill	1650	\$0.169	\$278.85		
17	Cityview	1500	\$0.169	\$253.50		
18	Clarkdale	1500	\$0.169	\$253.50		
19	Clay (Pebblebrook Gym & JROTC)	825	\$0.169	\$139.43		
20	Clay-Harmony Leland	1500	\$0.169	\$253.50		
21	Compton	1100	\$0.169	\$185.90		
22	Davis	1650	\$0.169	\$278.85		
23a	Dowell	1500	\$0.169	\$253.50		
23b	Dowell	1500	\$0.169	\$253.50		
24	Due West	1100	\$0.169	\$185.90		
25	East Side	1650	\$0.169	\$278.85		
26	East Valley	1100	\$0.169	\$185.90		
27	Fair Oaks	1100	\$0.169	\$185.90		
28	Ford	1100	\$0.169	\$185.90		
29	Frey	1650	\$0.169	\$278.85		
30	Garrison Mill	1650	\$0.169	\$278.85		
31	Green Acres	2200	\$0.169	\$371.80		
32	H.A.V.E.N. Academy	1100	\$0.169	\$185.90		
33	Hayes	825	\$0.169	\$139.43		
34	Hendricks	1500	\$0.169	\$253.50		
35	Hollydale	1100	\$0.169	\$185.90		
36	Keheley	1100	\$0.169	\$185.90		
37	Kemp	1500	\$0.169	\$253.50		
38	Kennesaw	330	\$0.169	\$55.77		

Revised Award Letter, Page 3 IFB B1806, Grease Trap Cleaning Wind River Environmental, LLC dba Hamby's Commercial Waste, Inc. Vendor-PO Mailing #100144

Phone: (770) 439-1448

Email: RCOBB@WRENVIRONMENTAL.COM

Item	School	Size of Trap	Price Per Gallon	Unit Price	
Elementary Schools (Continued)					
39	Kincaid	1650	\$0.169	\$278.85	
40	King Springs	2000	\$0.169	\$338.00	
41	LaBelle	825	\$0.169	\$139.43	
42	Lewis	1650	\$0.169	\$278.85	
43	Mableton	3000	\$0.169	\$507.00	
44	McCall Primary	3500	\$0.169	\$591.50	
45	Milford	1650	\$0.169	\$278.85	
46	Mt. Bethel	825	\$0.169	\$139.43	
47	Mtn. View	3000	\$0.169	\$507.00	
48	Murdock	1650	\$0.169	\$278.85	
49	Nicholson	1650	\$0.169	\$278.85	
50	Nickajack	2200	\$0.169	\$371.80	
51	Norton Park	1250	\$0.169	\$211.25	
52	Pickett's Mill	1500	\$0.169	\$253.50	
53	Pitner	1500	\$0.169	\$253.50	
54	Powder Springs	1100	\$0.169	\$185.90	
55	Powers Ferry	1100	\$0.169	\$185.90	
56	Riverside	1000	\$0.169	\$169.00	
57	Rocky Mountain	1100	\$0.169	\$185.90	
58	Russell	1100	\$0.169	\$185.90	
59	Sanders	1500	\$0.169	\$253.50	
60	Sedalia Park	1100	\$0.169	\$185.90	
61	Shallowford Falls	1650	\$0.169	\$278.85	
62	Smyrna	1500	\$0.169	\$253.50	
63	Sope Creek	1100	\$0.169	\$185.90	
64	Still	1100	\$0.169	\$185.90	
65	South Cobb Early Learning Center	1100	\$0.169	\$185.90	
66	Teasley	1500	\$0.169	\$253.50	
67	Timber Ridge	1650	\$0.169	\$278.85	
68	Tritt	1650	\$0.169	\$278.85	
69	Varner	1100	\$0.169	\$185.90	
70	Vaughan	1650	\$0.169	\$278.85	

Renewal Award Letter, Page 4
IFB B1806, Grease Trap Cleaning
Wind River Environmental, LLC
dba Hamby's Commercial Waste, Inc.
Vendor-PO Mailing #100144

Phone: (770) 439-1448

Email: RCOBB@WRENVIRONMENTAL.COM

Item	<u>School</u>	Size of Trap	Price Per Gallon	Unit Price	
High Schools					
71a	Allatoona HS	3000	\$0.169	\$507.00	
71b	Allatoona HS (Culinary)	1000	\$0.169	\$169.00	
72	Campbell High	2500	\$0.169	\$422.50	
73	Harrison	2200	\$0.169	\$371.80	
74a	Hillgrove (Culinary)	1000	\$0.169	\$169.00	
74b	Hillgrove	3000	\$0.169	\$507.00	
75	Kell	1500	\$0.169	\$253.50	
76a	Kennesaw Mtn.	1500	\$0.169	\$253.50	
76b	Kennesaw Mtn. (Culinary)	50	\$0.169	\$8.45	
77	Lassiter	1650	\$0.169	\$278.85	
78a	McEachern	2500	\$0.169	\$422.50	
78b	McEachern	2500	\$0.169	\$422.50	
79a	North Cobb	3000	\$0.169	\$507.00	
79b	North Cobb 9th Gr. Ctr	1500	\$0.169	\$253.50	
80	Osborne	2200	\$0.169	\$371.80	
81a	Pebblebrook	3000	\$0.169	\$507.00	
81b	Pebblebrook	3000	\$0.169	\$507.00	
82a	Pope	3000	\$0.169	\$507.00	
82b	Pope (Culinary)	2500	\$0.169	\$422.50	
83a	South Cobb	3000	\$0.169	\$507.00	
83b	South Cobb 9th Gr. Ctr.	1500	\$0.169	\$253.50	
84	Sprayberry	1650	\$0.169	\$278.85	
85a	Walton	1500	\$0.169	\$253.50	
85b	Walton	1500	\$0.169	\$253.50	
85c	Walton	1500	\$0.169	\$253.50	
86a	Wheeler	1500	\$0.169	\$253.50	
86b	Wheeler	1500	\$0.169	\$253.50	

Renewal Award Letter, Page 5 IFB B1806, Grease Trap Cleaning Wind River Environmental, LLC dba Hamby's Commercial Waste, Inc.

Vendor-PO Mailing #100144 Phone: (770) 439-1448

Email: RCOBB@WRENVIRONMENTAL.COM

Item	School	Size of Trap	Price Per Gallon	Unit Price	
Middle Schools					
87	Awtrey	1650	\$0.169	\$278.85	
88	Barber Middle	3000	\$0.169	\$507.00	
89	Campbell Middle	1500	\$0.169	\$253.50	
90	Cooper	2000	\$0.169	\$338.00	
91	Daniell	6000	\$0.169	\$1,014.00	
92	Dickerson	1650	\$0.169	\$278.85	
93	Dodgen	1650	\$0.169	\$278.85	
94	Durham	1650	\$0.169	\$278.85	
95	East Cobb	3000	\$0.169	\$507.00	
96	Floyd	1250	\$0.169	\$211.25	
97a	Garrett	1650	\$0.169	\$278.85	
97b	Garrett	1650	\$0.169	\$278.85	
98	Griffin	3000	\$0.169	\$507.00	
99	Hightower Trail	2750	\$0.169	\$464.75	
100	Lindley 6 <sup>th</sup> Grade	1650	\$0.169	\$278.85	
101	Lindley (7 <sup>th</sup> & 8 <sup>th</sup> )	1650	\$0.169	\$278.85	
102	Lost Mountain	1650	\$0.169	\$278.85	
103	Lovinggood	3000	\$0.169	\$507.00	
104	Mabry	1650	\$0.169	\$278.85	
105	McCleskey	1650	\$0.169	\$278.85	
106	McClure	3000	\$0.169	\$507.00	
107	Palmer	2000	\$0.169	\$338.00	
108a	Pearson	1500	\$0.169	\$253.50	
108b	Pearson	1500	\$0.169	\$253.50	
109	Pine Mountain	1650	\$0.169	\$278.85	
110	Simpson	1650	\$0.169	\$278.85	
111	Smitha	2200	\$0.169	\$371.80	
112	Тарр	1100	\$0.169	\$185.90	
113	Fee structure for additional, related services that may be		\$94.50 per Hour for Tech and \$34.50 per Hour for Helper		
	needed during the award period.		354.50 per nour for neiper		